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Reactants in a transition state;
[a) Always change to product
[B] Return back to reactants
() May return to reactants or procegds Lo form
products
(d]) Are of low energy
Out of the following indicate the stitching items lor
PFUPPIES.
[a] S¢hool (] Litter
() Covay (] Group
Tarmarks larva reservation with:
[a) Bipinnaria Lurva {b] Trochopore lary
(e} Glochidium larva [(d] Instar lhrva
Taxug baccoto ks the botanical nature of;
[a]) Fever bree (b] Deadly nightshade
() Engligh Yew [d] Daffodils
Venous Mower basket belong to which group of
Organisms:
[a) Anglosperms (b] Sponges

[€) Marine Algae (d] Fungus like protests
On a planet, a vertically launched projectile takes
12.5 2 to return to its starting position, The
projectile galns a maximum helght al 170m. The
planet does not have an atmosphere. What is the
acceleration of free fail on this planet?
{a) 22 ms? (b] 8.7 ms-=

(€] 27 ms3 [d) 54 m.s-2
The lienzation potential of a hydrogen atoim ks
1360 what will be the acceleration of free fall on
this orbih?
() -10.2 Ev (b) 3,40 Ev

() +3.40 eV (1) =1.51 eV
A man hax a mass of 80%kg. He ties himaelf to one
end of rope which passes over a single fixed pulley.
He puills an the other end of the rope to lift himsel
upat an average speed of 50cms. What is the
average usehil power at which he is working?
[a) 40W (b] 0.39 kw

] 4.0 kW (] 39 kW
Compound In which addition takes plats through
markovnikov's rule is

{a) CHy = CH = CH - CH, () CHy -
C{CH;) = CH - CH,
{e) C;Hi CH = CH - CHs (d) CH; -

CH=CH = CzHq
Which of the lollowing will a testes shield against
K-rays?
[a] Drdinary water [h] Heavy water

() Laead (] Aluminum
In a uniform electric field, which statement is
carrect?

12)

13)

14)

15)
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17]

18)

19)

20)

21)

22)

[a) Al charged particles experience the same foroe
(b) All charged particles move with the same
veloeity.
(] All electric field lines are directed towards
pasitive charges
(d) All electric Neld lines are parallels,
During the formation of agueous solution of any
electrolyte:
(2] Heit is evolived

[t) Heat is absorbed
(c) Heat may cvolved or absorbed
Electralyte do not dissolve in water
The compound with more than 109% solubility In

(d)

pure water is
(a) MgCO, (b) Al: (CO5)s
(&) K20 [d) ZnC0,

The mass of NaOH needed to prepare 0.2 molar
solution in 500¢ pure water at 4°C is:
[a) D.A4g [b] 4.0g (€] 1.5
[d] 1.0g

Choose the related word for Rot on the analogy of
clephant: Stride.
[a) Scamper [b) Loiter

(€] Whim per [d) Gallap
Baroceptors are the sensors in body responsible
for determination of:
[a) Blood Glucose (b) RBlolod Ammeonia
pH () Blood Now
Which one of the lollowing is not a draught animal?
(a) Buffalo (b) Mule

(c) Elephant [d] Yak
Which of the lollowing is not isotonic to sea water?

(€] Mopod

(a) Myxine (b) Skates

(€] Sharks [d) Teleost
Which one of the fallowing ks not an insect?
(@) Ticks (1) Honey bee (€]
Beetle (d) Wasp

A condition called Goose simples, are caused by;
[a) Dvercooled hody [b) Bacteria

() Environmental changes (d) Pollution
Two wave sources are oscillating in phase, Each
source produces a wave of wavelength . The two
waves from the sources mieet at point x with a
phise difference of 90% What is a possible
difference in the distinces from the bwo wave
sources to point x7
[a] 28 (b) 274

(€} () 2
The activity of a certain nuclide ks governed by the
relation 1—‘ =-iMwhered =24 « 10951 what Is

thee half-life of the nuclide?
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[a) 2.9 = 107s (b] 1.3 = 107s
)12 = i00g ()34 =10"0s
Four resistors are connected in a square as shown | 33)

Rsured between any two
itmnhms, l:wn junctions s the
B

[ﬂ P and [h} Qand S

[e) Rand S (i) S anel P
The elevation in bolling point AT Is equal to
chullioscopy constant Ku when the Molarity (M) of
the solution |s:

(2] 0.1m (b) L0m
[€) 10.0m (d) Statement Is wrong
ON-+CsHs-1-CaMy-0H + 1

One of the specie in the above reaction is a
substrate. It |s

[a) OH- (b) CH; - CH: - OH
e} {d) CHy = CHy - 1
The process that can both be endothermic and

exothermic out of the following |s:
{a) Formation (b) Crystallization
{c) Bond breaking (d) conilensation

The amine which is more reactive towards (1 is:
{a) Diethyl methyl amine (b)
dimethyl amine
{c) Methyl propyl amine {d) Butyl
aming
He said, “What Is the matter"?
[Choose the correct indirect speech;|
{a) He sald what the matter was

() He asked what the matter was
{¢) He enquired that what was the matter (d) He
ashed that what the matter had been
The number of Hyold bone in hﬂlml! skl pegion | i
(a) 1

[c) 22 (d) IM .
Which factor is not involved in release ul'D:}-lnch'l
in females:
{a) Stretching of uterus

() Stretching of Corvix
[€) Loviw level ol testosterone

(d] Low level of progesterone
Chymotrypsin acts upon:
(a] Starch i duodenum

[b] Proteins in stomach
(€} Proteins in dusidenim in acidic medium

{i) Proteins in duodenum in alkaline medium
Which of the following series lie in the visible

reglon?

14)

35)

36)

37)

i

40)

41]

(a) m,-é!:-cl
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(a) Lyman (b) Paschen

(€] Balmer () Plund
Two springs of spring constant K; and K: are
arranged in parallel and a body of mass m is
attached to it then calculate the time period of the

syatem:
[
i

(n) 22 ,,,

(€) 2% i. a (d) 2= [m==

To determine the resistance of a volimeter by
discharging a capacitor through it, the
Instantaneous voltage is then given by the relation:
(a) Vo 10 (b) Veriac

(€) Vo/2 (d) V/V2

When we are measuring the internal resistance of a
cell by potentiometer, the cmf of the battery must
be greater than the:

(a) emf of the cell (b) P.D in the crcuit  [c)
Current in the cell[d) Current in the circuit

Upon hydrolysis compound “x” in the presence of
NaDM we get C:H:0H.

And n L Compound "X s
CHl - C— ﬂ- M" =
i
(a) €;H; - CH; - OH th]ml|+§+uu
1 |
(<) CHy-C-0-C:Hy,  (d) :m.-f‘-o-m.

The compound which you think is not the
dulvnthrﬁ of acetic acid is:

(b) CH-CO-0-CO-CHy
(€) CHi-C-NH; (d) None of the abave

The reducing agent in the reaction given, KMnO, +
Kl # HS04=% M50, + K:504 ¢ | « HiO s

(a) KMnOy (b) KI
[c) Hz504 (d) Kl and H:50, both
Don't poke your nose __ my affairs.
{a) in (b) on
(e) into (d) by
A vein differs from an artery in having:
{a) Strong muscular walls (b)

Narrow lumen

(€] Valves contral direction of blood flow oppasite
to heart

{d) Valves contrul direction of blood flow towands
heart

Expiratory centre in medulla is:
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[a) Daorsal [b) Ventral (9] wavelength of monochiromitic light, as shown in
Lower part (d) All of the above the diagram,
Polyploidy is more common in:
(a) Mants () Animals ()
B:ﬂ b {4 Virss Grati First order masimum
Whenever nitrite group is hydralyzed (dil HCH) Monochroma 100"
with water It o flaht
() Amines () Amides
A person who leaves his country and settles in The spacing of the slits in the grating is 1.00 = 10-
another country is called: m. The angle between the first order diffraction
() Emigrant (b) Immigrant (c) maxims s 60.0% What Is the wavelength of the
Migrant (d) Aborigine light?
The center of porphyries in the head region of [a) 2B7 nim (1) 570 nm
hemoglobin s occupled by: _ (c) 574 nm (d) 940 nm
[a) Potassium (b) Sodium 53)  The cation that distort the electron cloud of NOg
(€) Magnesium (d) lron fon more and facilitates its decom position is:
Syphilis is caused by: (a) L* (b) Mg
(a) Treponema palladium (b) Helicobacter spp () () Cit (d) Be*+
Neisseriaspp  (d) Bactericides spp 54) The energy of electron in the first excited state of
The organism developed with two heads and one Hydrogen atam i | /atom i
trunk is called: (a) 28 % 101 (1) 0.545 « 10-1»
() identical twins (b) Dizygotic twins (€] -2.18 = 10 (d) =1312.36
(¢) Fraternal twins (d) Stamese twins 551  Unhybrid “p® orbitals on lnear overlap:
The paratrooper of mass B0Kg descends vertically (a) Always form Pi(=) bond
at a constant velocity of 3 ms™! taking the (b) Always form “a” nor “n” bond
acceleration of free fall as 10ms-%. Find out what is {c) Nelther form "a" nor *n” bond [d) Form
the net force acting on him? more reactive and more unstable “n” bond
(a) Zero (b) 8.00 N upward 56) It's raining cats and dogs. So there are ____ cars on
(¢) BOO N downward  (d) 240 N downward the road today.
The dimensional formula for change in momentum [a) Few (b) o Few
is same as that for: () a big number of {d) a great deal of
(a) Farce (b) Impulse 57) He sald to me, "traitor”,
(c) Acceleration (d]) Velocity [Choose the correct ind|rect speech:|
What is NOT true of 2 forces that give rise toa (a) Hesaid w me that | was a traitor
couple? ) He tald me that | have been a traitor,
(a) They act in opposite directions {€) He called me a traitor (d) He
(b) They both act at the same point . exclaimed with anger that | was a traitor.
(€) They both act on the same body ~ _ 5H)  Thestage of plasmodium life cycle not related to
(d) They both have the same magnitude 1 human bodyis:
The stress-strain graph for 2 metal is shown, {a) Merozoite (b) Qoikinetes ()
Trophozoites (d) Gamelozolies
59) In protein synthesis the initior tRNA carrying
amino acid methionine lard an which site of
ribosome:
(a) E site () P site
What is per unit volum () A site (e} C site
0010 60]  Goblets cells are:
e of a rod nnde from this metal when the strain of () Unicellular exoerine gland
the rod is 0.0107 () Unicellular endocrine glands
(a) 10 k] m- (b) 100 kj m-? (€) Multicellular exocrine gland
(€] 1.0 M} m-* (d) 10 M) m-* (d) Multicellular endocrine glands
A diffraction grating is used to measure the 61)  The instantaneous current in a circult is given by |
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1)

= 2 sin (wt + @) ampere what |s the rms value of
the current?

(a) 2A M VZA

(c) 1A ()5 A
Which list shows electromagnetic waves in order of
increasing lrequency?

() Radio waves —» gamma rays < ultraviolet —»
infrared
{1 Radio waves —» Infrared —» uliraviolet —»
garmma rays
() Ultraviolet =» gamma rays =» radio waves -+
infrared
(] Ultraviolet —» infrared —» radio waves —»
gamma rays
What is the momentuim of X-rays having
wavelength 0,00 1nm?
(#) 6,63 x 10-% kg m 5!
(b) 6.63 = 10- kgm s
(c) 663 = 10-1 kg m s
(d) 6.63 « 10-" kg m s
Henderson-Hasselbalch equation is used to
caleulate the p° of a buffer solutions. The correct
mpmnmt% the equation llfi".l
(@) p::— 108 acsa [hl'l“:; log {53t
log S==L - (d) pra+ log [t
Il the p” of the solution is9 jts DH* jons
caneentration is:
{a) 10
{) 10-% (d) 9
The first stage in development of Xerosere Is
appearance of:
{a] Foliose lichens (b) Crustose lichens
(€) Fruticose lichens  (d]) Climax stage
Myt and Cars are exciated in Mehes through!
(4] Kidney (b) Gills () Skin
() ALl of the above
Vamit centre Is located in:
(4] Pons (b) Mid) beain
() Cerebellum (d) Medulla
There are two charges +3uC and +8uc the ratio of
the force acting on them will be:
(a)3:1 (B)1:1

fc) Ki#

(b) 5

(e)11:8
(d)3:8

Two radioactive samples 5 and 5; have hall-lives 3
hours and 7 hours respectively, I they have the
same activity at certaln instant v, what Is the ratio
of the number of atoms of 5, to S; at instant t7
(a] 9:49 (b) 4.9

[¢) 3:7 (d} 7:3
The reciprocal of the conductance s called:

25
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76)
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79)
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(@) Comductivity [b] Resistivity
(¢] Resistance () Inductance
The volume of CO; produced by heating 33.54
L COy at room temperature and pressure is (Mr

LI G0y = 67j/maol):
[a) 22.4 dm? (b) 12.0 dm?
() 11.2 dm? () 24.0 chm?
The eyuation used to describe the behavior of ideal
gases under standard conditions Is:
(a) PV = nRT (b] 'M =dRT

{c) PYM = mRT [d) All of the above
The nuclel you think ks lnvisible in NMR

spectroscopy ls:
[a) Nt (b) ¥
{c) 1™ (d) £2
“To the letter’ means:
[a) Cursory (b) Enveloping a letter
{c) Precisely (d) Reporting a problem

We have three test tubes having aqueous solutions
of Ca{NO1) ., Ba(NO;): and K:L0; respectively. On
addition of dil H;50.. Which test tube solution
turns miliy?

[a) Ca[NOy)z salution [b] Ba[MNO3): solution [c]
K:COysolution  [d]) All turned milky

The teacher sald, "Amna, watch your steps®.
[Chopse the correct indirect speech:]

{a) The teacher ordered Ammna that She should
watch her steps.

(b) The teacher ordered Amna to watch your steps.
(€] The teacher ordered Amna to watch her steps.
{d) The teacher requested Amna to walch your
steps.

Which one of the following is a shrub?

[a) Parmelia [b] Aster

- (&) Rhus (d) Banana

In oltrogen figing bacteria, the nitrogenase complex
I8 sensitive 1o
(a) 0z

(b) CO; (€) NO;

- () NDy

Over eating psychological disorder Is called:
() Dyspepsia (b) Septecemia (c)
(i) Bullrmin
Two rallway trucks of masses m and 3m move
towards each other in opposite directions with
specds v and v respectively, These trucks collide
and stick together. What s the speed of the truchs
after the collision?
() w/4 (k) wf2

() v (d] 5vf4
A thin horizontal plate of area 0.036 m? is beneath
the surface of a liquid of density 930 kg m-%. The
force on one side of the plate due to the pressure of
the liquid is 290 N. What is the depth of the plate

Scanned with CamScanner



o 26 Amin Publications
beneath the surface of the liguid? (@) Calvin eycle (B Bundle sheath cells
[a] D88 m (b) 1.1 m (c) Pepen () €Oy Fixation in Mesophyll
[€) 1.8 m (] LT i 93] Cyelic alkanes with greater angle strain are always:
B3]  An electron and a proton enter a magnetie field [a) Moire stable (b) Less energetic
with equal velocities which one of them () More reactive
experiences more force: {d) Obey the general formula of normal alkanes
() Electron (b} Proton 941 Which one of the following i opposite In meaning
(¢) Both experience same force(d) Cannot be to the word SYMPATHY?
predicred {a) Apathy (b} Pathos
B4)  The chelating ligand out of the following is: (€] Empathy (d) Jealousy
[a] CHyL0D- {b) (CHz)s [NHz)2 05] Piriformis syndrome @8 associated with which of
[€) SCN- (U] NO the following disorder:
B5) The speed v ol a liguid o tube depends on the (a) Arthritis (b) Sciatica
change in pressure AP and the density p of the (<] Spondylosis (d) Dise slip
lHguid. The speed is glven by the equation. 96] Which one of the following is not an exclusive trait
al arthropoda?
" {a) Presence of wings  [b) Jointed appendages
b AP (¢) Haemocoe!  (d) Chitinous exoskeleton
= , 97] Locomotary organ in leech is called.
f (a) Setae (b) Chatae
(c) Parapodia (d) None of the above
valus m‘;m i3 congiunk it hag nouaESERe bs the Q8]  The power loss pin a resistor is caleabited using
the formiila.
U
€ . The uncertainty in the potential difference V is 3%
B6)  The exidation state of platinum in [PUINH)4 and the unrmglmr in !Fi:: resistance R Is 2%. What
(NO:)CI] S04 Is: is the uncertninty in P?
() ol (W) 4% (5) 7%
fc)0 (d) v (c) 8% (d) 11%:

B7) The outer electronic configuration of Cu* lon Is

45°3d W with this configuration the agueous
solution of copper (1) compound is:
{n] Blue {b) Greenish blue
() bluish green (4] Colourless
For the réaction,
CO(g) » iﬂ.lm ~» COzig)
(a] K = K,
() K = Ks
Which way shall we go?
(The underlined word is)
(4] Demonstrative adjective
(3] Interrogative pronoin
() Interrogative adjective
(i) Exclamatory adjective
An autolmmune disorders in which stiffness and
information of vertebrae occurs s called as:
(4] Lupus (1) Selérodierma (4]
Ankylosis spondylitis (d) Juvenile dermatomyositis

The study of flishes |s:
(b) lehthyology (c)

(] Ormithelogy
Herpetology (d) Herpetology

Which of the following is absent in C4 plants:

[hl‘ Hp =K.
() Ky 2 K,
9 '

1)

9Z)

9] A guantity x Is to be determined from the equation.
X=P = Pis measured as (1.27 £ 0.02)m and ( Is
measured as (083 £ 0.01) m. What s the

percentage uncertalnty in 2 to one significant

figure?
(a) D454 (b) 2%
‘[e) 3% (d) 2%
100) The number of electrons in one coulomb of charge
are;
(0) 6.25 > 108+ (b) 1.6 = 10
(c) 6.25 = 10 (d) 9.1 = 10"

101) Srudents were decomposing CaCoy placed in a
China dish by heating using burner in the
laboratory. The “system” in this experiment is:
(i) China dish (k) Burner

() Laboratory (d) Caly,

102) Male having Downs syndrome have sex
chromosomes:

[a) XXY (b) XY
(€] XYY (d) XYYY

103) Darwins finches are found n;

[a) New Zealand [b) New Gulnae [¢)
Galapagos Island [d] Australia
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104) Which of the following is the most economically [a) Saccharomyces (b) Armillaria
important plant family? (¢) Trichonympha {d) Balanitidium
[a) Poaches (b) Asteraceac 116) The edible part of Motherly escalation is:
[c]) Rosaceae [d) Fabaceae {a) Ascocarp {b) Basidiocarp (c)
105) In Simple Harmonic Motion this acceleration of the dygocarp (d) Pseudocarp
particle In 2ero when it? 117) X0 in drosophila result in sterile:
[a) Velocity is zero [a) Femaleo () Male
(b) Displacernent is zero () Both (a) & (b) (d) No effect

[c) Both veloeity and displacement are zero
[d) Both velocity and displacement are maximum

106) A typical mobile phone of 5.0 V and an internal
resistance of 200 m{L
What is the terminal P of the battery when it
supports a current of 500 mA7?

[a) 4BV (b} 49V
(c)50V ()51V

107) Which combination of up (u) and down (d) quarks
forms a neutron?

(a) uwu (Byuud
[cudd (d)dd

108) Speed with dipole moment equal to zoro is:

() AICIs (b) CHy (€) 1.4 -
Dibromobenzene (d) All of the above ;

1049) Aqueous KOH causes SN-reaction in alkylhalides.
On which of the following alkyl- hnlldu: KOH .
would like to attack easily.

{a) CHs - CHz - C1 [b) CH; - CH; - Br
CH: =F  [d) CHa=CH: -1

110) Three reactions are given:

L Hz50 + ZHF —» Fz » 503 + ZHD
Il WS04« 2ZHBr —» Bry+ S0z + 2H;0
L H:S06 = BHI —» Als = H:S = 4H:0
The strongest reducing agent in these reactions is
[a) HI (b) HF

) Wiy (d) All of the above

111) The number of gram atoms in 3g Hydrogen atoms
is the same at the number of gram atoms in -'Illgn-l'*
(a) N (b) C.

(c)O (d) 0y

112) M the required excitation veltage is ghven, for which

elemeni the 5 - rays spectrum conslsts of three

spectral lnes Le. K, Ky Lo

() CHa -

{a) Na (b)) Boron
(K (d) Ca
113) Si0 in the only oxide that reacts with:
[a) HCl.q (b) KOH
i€) Stream [d) 505
114) 1am afraid we have not got _ sugar for making
tea,
[a) Same (b] No
(€) Any (d) Plenty

115} Alcoholic fermentation is the sole imean of
respiration n:

118) Astone is protected vertically upwards lrom the
ground at an initial speed of 15 ms-4, Air resistance
is negligible. What s the maximum helght reached

by the stone?
(a) 0.76 m [(b) 11 m
(e] 23 m [d] 110 m
119) Evaporation depends upon:
[a) Surface area [b) Temperature
(c) both (a) & [b) [d) None of the above
120) Students were heating CaCO; in an open container
to produce CO: gas,

Cﬂ:ﬂm-# E:lD... * :D;u_u
If we increase pressure on this system the:
[a) Equllitarivim will shift towards right
[b) Equilibrivm will shift towards left
[c) Equilibrium will not be disturbed
(d) System does not obey equilibrium rules
121) Sabawas sick pn the bis
[The underlined prepasitional phrose function as o

— In this sentence)
[a) Adjunct (1) Disjoint
{c) Conjunct [d) Adverbial

122) The lirst successful surgery of heart was performed
by [, Ludwig repairing a wound on which part:

[) Right auricle [b) Right ventricle
(€] LTt muricle [d]) Left ventricle
123) Lignin could not be expected in which part of the
plant cell wall:

(a) Secondary cell wall  [b) Middle lamella
[} Cell membrane [d) Primary cell wall
124) The follawing statement is true for the absorption
; S pHoGvmet
(a) Chlorophyll a and b have same absorption

spectra

[b) Chlorophyil a and b have dilferant absorption
spectra

[c) Chlorophyll 2 and carotenolds have same
absorption spectra

(d) Carotenoids and chlorophyll b have same
ahsorption spectra

An glectromajnetic wave travels In a stralght line
through a vacuum. The wave has a frequency of &
THe What is the number of wavelengths in a
distanee of 1.0 along the wave?

125)
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(4] 5,0 % 104 (b) 200« 10 shown.
[c) 2.0 100 (i) 5.0 = 107
126) What is the magnitude of a point charge which
produces an electric field of 2 I!, at a distance of 60 12m é‘
emt
() 8% 10-11C (b) 2 = 10-52C Am i
[c) 3= 10850 {(d) &= 10-19C Y
127) The alcohol given CHy = CHz = CICH1): = ON, If Support
oxidized with a strong oxidizing agent given; Support
() Aldehyde (b) Ketone
(¢) Ether () None of the above . l
128) The amount of heat required to raise the ‘r::{iuﬂr;;mﬁ :I;hpzrtp;;mﬂ EAR
temperature of 10 moles of water from 70K (o 0K (a) 2200 N (b) 2300 N
(a) 0.7524) (b) 7524
(¢) 95.24] (4) 572.4] 137] A wire of diameter d and length t hangs vertically

129) The agueous solution of which of the following
electrolyte will conduct electric current to large
extent:

(a] Mg(OH)2 () HaCO,
(c) NH.(CI (d) NHOH

130) Your are called namies by him.

[Choase Lhe correct volee)
[a] He s calling you names
(b) He calls you names
(€] He called you names
(d] You are being called names by him
131) In ECG QRS complex represents

[a] Atrinl systole (B] Arial diastole
(¢} Ventricle systole  (d) Ventricle diastole
132) The common name of rubellns is:
{a) Whoaping canght {(b) German measles
(€) African sleeping sickness (d) Tay Sach's
ilisgase

133) A heterozygote fruit fly has more lorescent
pigments in thelr eyes than a wild homozygote frult
fly, this s an example of:

{a) Co-dominance(b) Incomplete dominance (c)
Over dominance (d) Complote dominance

134) To determine Youny's modiles of a material of a
piven wire of length L we use:

) Meldes apparntus  [b] Young's apparatus
(c] Searle’s apparatus  [d) Cavendish apparatus

135) An clectron s projected hortzontally from south to
north in uniform horizontal magnetie Neld acting
from west to east. The direction along which it will
be deflected is:

() Northwards (] Southwards [c)
Vertically upwards (d) Vertically
downwards

136) A uniform horkzontal feotbridge 15 12m long and
weights 4000 N. It rests on two supports X and ¥ as

from a fixed point. The wire is extonded by hanging
amass Mon (is end. The young modoius of the wire
is E. The acceleration of free fall is g. Which
f.-qu.mnu is used to determine the extenuation x of

the wire?
()%= (b)x =2
()x=1% (d)x =

138) A sound wave has a frequency of EEIIIII Heand a
speed of 1500 m s-%, What is the shortest distance
fram a point of maximum pressure in the wave to a

point of minimum pressure?

[a)D.15m (b) 0,30 m
(c) D.60 m (d) 1.20 m
139) Initally one mole gach N; and 0; were made to
react as,

Nate + Ol | ' ﬂi‘m?ﬂ ZNOig
Il'ul; nquilll:lﬂu.m 0.25 moles of 0y Is present the
ullibrium concentration of NO will be:
[‘nj 0.50 moles (b) 0.125 maoles(c) 1.50
mioles () .75 moles
1407 Thitwnpﬂll'l-d of manages with zero reducing
power (s:
() KMn(, (b) Mnt,
() Mnily [} Ming [504]s
141) Chemical reactions associated with hydro-carbons
Is fare
(a) Electraphilic addition ()
Electraphilic substitutions
(€] Free radical substitutions
(d) All are possible
142) The young's modulus of a given mod of uniform
lengith L ks given by the relation:
[a) FLSA (b) FA/L
(€] FL/=rl (d) Fif=riL
143} The inward and outward electric lux from o closed
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surface are respectively B = 107 units and 4 = 10
umits then the net charge inslde the closed surface
bs:

(4) — () =4 = 10" go conlomb
L l.ﬂ

(€)= coulomb (d) 4 = 107 coulomb

A rndlmruw Isotape has a hall-lile of 3 days. The
time alter which its activity Is reduced to 6.25% of
its mriginal activity Is:
(a) & diys {(b) 8 days
days (i) 16 days
Students calcilated the cell valtage for the reaction,
Bry + 2NaCl —» ZNallr 4 Cls
Through the formula E%a = E2%a+ B the answer
was negative It means that
{a] The reaction ks non-spontancous and feasible
(b) The reaction is non-spontaneous and not
feasible
{¢) The reaction Is spontaneous and feasible

(d) The reaction is spontaneous and not feasible
The non-carbonyl compound out of the follawing
is:

"iln ‘ﬂulﬂmh

144)

(c) 12
145)

146)

I'HF

[a] CH-CO-CHy (b) CIH:—CH -CHy

(¢) CHs-

Crﬂ {d) CH r-C-'EI
The empirical formuila of the compound was found
to be CHO, Il the molar mass of the compound s
150g/mol. The molecular formula of the compound
ks:
(a) Cal 204
[€) CaHinls
148) ‘Enlarge upon’ means:
(i) Explain in more detail [(b) To make wmaller
[¢) To become largge () To measure
149) A metal cube with sides of length *a® has electrical
resistance R between opposite foces.

147)

(b) CiHa0,
(d) CaHip0s

a
e

What is the resistance between the opposite faces
of o cubye of the same metal with sides of length 3a7

(a] R (b] 3R
[e) Rf3 (d) R/fa
150) Which particle is a fundamental particle?
[4] Electron (b] Hadron
{¢) Neutron {d] Proton
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151) The nuclear equation shown has a term missing.
HC N+ B+
What Is represented by the missing terms?
{a) An antineutrino (b) An electron [c) A
neuirino (d) A position
152) The Fridel crafts catalyst "AICH" used in the
substitution reactions of Benwene s o good
(o) Electrophilic  [b) Lewis acid i)
clectron deficient specie  [d) Dear all properties
153]) The most reactive compound out of the following
is:
(a) Ortho hydroxyl toluene
() Ortho chloric ethyl beacon
(¢) Phenal
(d) Para ethyl benzole acid
154) Addition of soluble impurities into a liquid and
soliid respectively causes:
() Increase in bolling point af liguid and decrease
in meeting point of solid
(b) Increase in both boiling and melting points
(€] Decrease in bolling point of lguld and Increase
in melting point of solid
{d) Decrease in both boiling and melting points
155) Which of the following Is correct in all respects?
() I have done matric in 2010
(b) This is an utensil
(c) The population of the world rises
{d) This is the best peach producing valley
156) Which of the lollowing is not the part of first line of

defense?
(a) Sebum (b) Perspiration
() Interferon (d) Epidermis

157) During the formation of addition polymertration,
which smaller molecules you think are eliminated:
(a) H:0 (b) Hea (€] NHy
(d) No.one I8 eliminated
158) My maother offered me mille But for my lfe. | could
not drink it
[The underlined expression means,|
(2] Mowever hard | may try
(1) Beciise of my life
{€] For ithe sake of my lile (i)
Puring my life
159) Which process of cell division s involved in
pamites formation In funarla:

() Mitosis () Mefosis
() Amlitosis [d) Binary Fission
160) Closed vascular system is the characteristic of:
[a) Lycopsida (b)) Sphenapsida
(€] Digot () Monopeot

I61] Common name of the Lotigo prolied is:
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(o) Sepuidd (] Lalipo () Shug () 5.0 cm (1) 6.0 £m (€] 10.0
{d] Oyster €m (d) 120 em
162) The maximum energy of the electrons released in - | 173) Whenever Ph shows Inert pair effect it always
photocell Is independent of form:
(i) Frequency of incident light () lenic bornd (b} Covalent bond

{bs) Internality of incldent light
() Nature of cathode surface
() Wavelength of light
163) A mass m s susponded from a spring of spring
constant k. The angular frequency of ascillations of
the spring is:

(4 % (1) ‘E
()2 ¥
164) Which expression using S/ base units is equivalent |
to the valt?
(a) kg m? 51 A7) (b) kgms=A
(€} kgm?s1 A (] kg m? 5= A1

165) If the overlap of 5p? hybrid orbitals in carbon
atoms is smaller the bond so formed is:
() Weak (1) Strong (c) Less
entrgetic [d] More stable
166) The minimum energy below which no reaction
occur in reactants molécules is:
[a] Average K.E of the molecules (s}
Potentinl energy of the molecules
(€] Free energy of the molecules (]
Activation energy of the molecules
167) Amino acid leucine is coded by how many codons:
a1 (b) 2
{c) 4 (1) 6
168) Which of the following Is not a fern?
() Preris (b) Tmesipeteris
() Drvopeteris (d) Presidium
169) Umbel of umbels is present in:
[a] Hydrocotyl {(b) Carrot
{¢) Iberis (d) Grapes
170) A filament lamp has a resistance of 18063 when the
curvent in it ks 500 mA. What is the power
dissipated in the lamp?
(a] 45 W (b] 20 W
[c) 290 W {(d) 300W
171) Orange light in a vacuum has a wavelength of 600
. Wit s the Frequency of this Hght?
(] 180 He (1] 50 = 10° He (c) 1.8 «
100 Mz (d) 5.0 = 100 Hz
172) A stationary sound wive has b series of nodes, The
distance betweéen the first and the sixth node is
30,0 cm. what is the wavelength of the sound
wave?

(€] Co-ordinate covalent bond [d) Metallic bond
174) In the compound COy and HO the hybeidization in

axygen |s respectively:
(b) Sp and 5p* (c) Sp

() Sp? and Sp*
and Sp*  (d) Sp* and Sp*

175) According to M.O theory the number of molecular
wrbitals in O are:
(a) 10 (b) 7

(c) 8 (d) 9

176) 1| had an unexpected guest today. __ my old

classmate,

{a) it was [(b)ie ks (] he
wis (d) she was
177) Which of the following Is a summer variety:
{a) Figs () Cabsbages
[c) Dranges (d) Pears
178) The amount of methane in Biogas is approximately:
(a) 10-30% (b] 50=-90%
(c) 50-75% (d) 60-75%

179) Depolarization of neuron is characterized by:
() No into the axon and K+ out of the axon
(b} K+ into the axon and Na* out of the axon

{c) Na* and K* within the axon teward the axon
terminal (] None of the above

180) Doubly lonized atoms X and ¥ of two different
elements are accelerated through the same 1.0, on
entering o uniform magnetic Meld they describe
circular paths of radii Ry and Ry, The masses of X
and Y are in the ratio of:
() R s Rs () Ry : n{.l (€)

3 1 .l 3

R : R R R

181) The restmass of Photon is m.. Its linear
mamentum, when |t moves with the speed equal to
hall of the speed ol light in space, will bae;
[a) 3mec/4 [b] 2imec/4

(€] muc/v3 (d) Zmoe/V3

182) The charge on the electron and proton is reduced
ta kall |F the present vilue of Rydberg constant is
K1, then the new value of Rydberg constant will be:
[a) RS2 (b) R/4

(c) RSB () R/16

183) By the absorption of visible lght, which of the
following compounds gives smoggy alr its brown
tnt?
[a) ND

(b] S0, () KOs

(d) NO;
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184) Regarding reactivity of the compounds having
carbanyl group, The most reactive campound out
of the following ls:

ir LH]
(0] CHy=CHe= | =CHy (b)) CaMs= 1| -ON

i (1]
(¢) CHy= Il <M (d) CHs= 1| ~DH

1B5) She sabd, “What a lovely dress it is®
[Choose the correct indirect speech:|
(] She selidmed that i1 s @ lovely dress
exclalmed that it was a lovely dress.
() She exclaimed that what a lovely dress it was,
(] She exclaimed what a lovely dress it is
186) The living phloem, cork and cork cambium is

(ls] She

collectively called:
(4] Periderm () Protoderm
(€] Peribleam () Bark
187) Al of the following acts as cloning veclor except
(a) BAC (] YAC (€)
Cosmids (d) EcoRi
188) How many sperms are produced from fifty
secondary spermatocyte?
{a) 200 (b) 100
(¢) 50 (d) 150

189) How many cubic nanometers, nmy, are in a cublic
micrometer, pm'’
(a) 10 (b) 10
{¢) 100 (d) 101
190 A man stands in the Ll that is accelerating
vartically downwards, Which statement describes
the lorce exerted by the man on thee Noor?
{a) It Is equal to the weight of the man  (b) Itis
greater than the lorce exerted by the Noor on the
man
(€] 1t 15 less than the force exerted by the floor on
the man. (o) 1¢I5 less than the wﬁhml the man
191) The efficiency of 4 heat engine wnritln;hmmn
the freezing point and the bolling polnt of water s

near to;
(a) 50% (b) 25%
[€) 12.5% () 6.25%

192) An unknown gas diffuses S times slower than that
of Ha The molecular mass af the unknown gas 15
{a) 50 (b) 10
[€) 15 (d) 25
193) Hydrogen bonding in H - F is stronger than H:D
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and NH. The highest bolling point among the three
isok
(a) HF (1) NH (€) H:O

(d) All have equal bolling points
194) The type of isomerism present in the compotund

Biven,
H H H (*H,
Moam  T—
N £\
L CH; Hsl H
{a) Structural [b) Dptical
() Stereo [d) None of the above
195) The main difference between catalysts and
eNEymes Is:

(a) Enzymes are sharp in action than catalyst
() Catalysts used in large amount than engymas
() Catalysts are inorganic while enzymes are
organic In nature
(i) Enzymes neced ph while catalysts do not
196) Choose the related word lor Broom on the analogy

of Water: Splash.
(a) Whisper (b) Gush
(c) Swish (d) Screech
197) The first hormone to be discovered was:
() Secrutin (b] Testosterone
{c) Insulin (d) Thyroxin
198) For defense against virus attack body produces;
(a) Antibodies [b] Histarmines
{c) Antigens (d) Interferon’s

199) Short life cycle s a plant adaptation to survive in:
{a) High temperature (B) Low tempaerature
(€] High soil pH (d) Low soll pH
2000 A transverse wave travels along a rope. The graph
shows the variation of the displacement of the
particles Inthe rope with distance along it ata
particular instant.

pe

7

At which distance along the rope do the particles
have maximum upwards velocity?
(a) 05 m (b) 1L.Om

(e} 1.5m (d] 2.0m
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35 | A 6. | B 103 | C
3. | C 0. | C 104. | A
37. |D 7. |C 105 | B
38 |B ¥2. | B 106. | B
a5, | C 73. | D 107, | C
40. | D 74 | A 108. | D
4. | D 75. | € 109 | D
42. | A 76. | B 110, | A
#3. | B 7M. | C 111, JiC
44, | b 78 | C 112. | A
45. | D 79. | A 113. | B
6. | A 8. 1D 114, | C
47. | D 8L | A 115. [ A
4B, | A B2. | A 116. | A
49, | B 8:. |C 117. | B
50, | B TR 118. | B
51. |D 85 | A 119. | D
52. 1|C g86. | D 120, | D
53. |D B7. |D 121 | D
4. |B BA. | B 122 1B |
55 |C 8. | C 123. 1 C
56, | A 90. | C 124. | B
57. | C 9. |B 125, | Ci
58. |B 92. | D 126. | A
59, |B 83 | 127. | D
60. [A lo4. D 128. | B
6l. |C 9%, | B 129, |IC
62. |B 9. | A 130, | B
63. |A 97. | D 1311 &
64. (D 98, | C 132. | B
65 | A 99. | D 133, | C
66. | B T 134 | €
67. | A 010 35 e
68, | D 102 |8 136. | C

¢ jllaes.
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